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P.11

1. 812

2. 414

3. 2616

4. 3306

5. 4086

6. 2920

7. 4580

8. 3957

9. 331 – ( 125 + 36 ) = 170

10.57 + (12 – 8) x 46 = 241

11.268 ÷ (4 – 2) – 1 = 133

12.C

13.
3

8
；three-eighths

14.
7

20
；seven-twentieths

15.
11

21
；eleven-twenty firsts

16.
7

64
；seven-sixty fourths

17.
1
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< 

5

12
<

11

12

18.
7
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> 

7

13
>

7

15

19.09:05

20.5:21 p.m.

21.22:36

22.12:27 p.m.

23.00:56

24.23:48

25.2 hours 18 minutes

26.19:35:16

27.10:02:59

28.23:36:15

P3 Revision WS (2nd term)



P.12

29.1000

30.2 kg 300 g

31.2007

32.3 kg 40 g

33.50 g

34.95 g

35.29 g

36.2000

37.1 L 525 mL

38.3010

39.5 L 5 mL

40. C > A > B

41.D < F < E

42.2

43.C

44.76

45.750

46.1689

47.176

48.567

49.3848

50.68

51.84

52.1025
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